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   2SLV RJyOQ\ RELHNWX   UR]ZLĆ]DQLD DUFKLWHNWRQLF]QR IXQNFMRQDOQH 

1D G]LDáFH QU    Z PLHMVFRZRĞFL :ROD :LHU]ERZVND SURMHNWXMH VLĊ GREXGRZĊ EXG\QNX 6DOL JLPQDVW\F]QHM ZUD]

] áąF]QLNLHP GR LVWQLHMąFHJR EXG\QNX 6]NRá\ 3RGVWDZRZHM  -HVW WR EXG\QHN QLHSRGSLZQLF]RQ\ 

MHGQRNRQG\JQDF\MQ\ ] GDFKHP MHGQR L GZXVSDGRZ\P R NąWDFK QDFK\OHQLD   � L  �  NU\W\P Sá\Wą ZDUVWZRZą ]

UG]HQLHP ] ZHáQ\ PLQHUDOQHM  VDOD JLPQDVW\F]QD  L SDSą WHUPR]JU]HZDOQą  áąF]QLN  

*áyZQH ZHMĞFLD ]QDMGXMH VLĊ RG ]DFKRGQLHM VWURQ\ EXG\QNX 

2SUDFRZDQLH SU]HZLGXMH EXGRZĊ EXG\QNX SROHJDMąFH QD Z\NRQDQLX  IXQGDPHQWyZ Z SRVWDFL áDZ  VWyS  ĞFLDQ

IXQGDPHQWRZ\FK  ĞFLDQ QDG]LHPLD  VWURSX  QDGSURĪ\  VáXSyZ  UG]HQL L ZLHĔF\ ĪHOEHWRZ\FK  NRQVWUXNFML

GUHZQLDQHM GDFKX 

   'RVWċSQRğý GOD RVyE QLHSHâQRVSUDZQ\FK 

3U]HZLG]LDQR GRVWĊS GR EXG\QNX GOD RVyE QLHSHáQRVSUDZQ\FK SRSU]H] SURMHNWRZDQą SRFK\OQLĊ ] WHUHQX

XWZDUG]RQHJR EH]SRĞUHGQLR GR SRPLHV]F]HQLD QU     

   (OHPHQW\ EXG\QNX 

%XG\QHN SURMHNWRZDQ\ Z WHFKQRORJLL WUDG\F\MQHM PXURZDQHM  VWURS Z F]ĊĞFL áąF]QLND ± ĪHOEHWRZ\  NRQVWUXNFMD

GDFKX Z F]ĊĞFL VDOL JLPQDVW\F]QHM ± GUHZQR NOHMRQH 

     )XQGDPHQW\

ĩHOEHWRZH PRQROLW\F]QH ± Z\NRQDQH Z SU]\JRWRZDQ\P Z\NRSLH QD SODFX EXGRZ\ 

3RG áDZDPL L VWRSDPL Z\NRQDü EHWRQ SRGNáDGRZ\ JUXERĞFL   FP   :\NRQDü ZHGáXJ F]ĊĞFL NRQVWUXNF\MQHM 

     ĞFLDQ\ IXQGDPHQWRZH

%HWRQRZH  ] EORF]NyZ EHWRQRZ\FK QD ]DSUDZLH FHPHQWRZHM 

     ĞFLDQ\ ]HZQċWU]QH

ĝFLDQ\ ]HZQĊWU]QH Z\NRQDQH EĊGą ] EORF]NyZ EHWRQX NRPyUNRZHJR JU    FP  RGPLDQ\      PDUNL 0   PXURZDQH QD

]DSUDZLH FHPHQWRZR ZDSLHQQHM PDUNL 0     03D    L]RORZDQH WHUPLF]QLH VW\URSLDQHP IDVDGRZ\P JU    FP  Z PLHMVFDFK

]D]QDF]RQ\FK ZHáQą PLQHUDOQą   ZDUVWZĊ Z\NRĔF]HQLRZą VWDQRZL W\QN FLHQNRZDUVWZRZ\ PLQHUDOQ\  RG ZHZQąWU] ĞFLDQD

Z\NRĔF]RQD W\QNLHP JLSVRZ\P ± PDV]\QRZ\P ,,, NDW 

     ĞFLDQ\ ZHZQċWU]QH

ĝFLDQ\ ZHZQĊWU]QH NRQVWUXNF\MQH Z\NRQDQH EĊGą ] EORF]NyZ EHWRQX NRPyUNRZHJR JU    FP  RGPLDQ\      PDUNL 0  

PXURZDQH QD ]DSUDZLH FHPHQWRZR ZDSLHQQHM PDUNL 0     03D    Z\NRĔF]RQH W\QNLHP JLSVRZ\P ± PDV]\QRZ\P 

ĝFLDQ\ ZHZQĊWU]QH G]LDáNRZH Z\NRQDQH EĊGą ] EORF]NyZ EHWRQX NRPyUNRZHJR  RGPLDQ\     QD ]DSUDZLH NOHMRZHM

FLHQNRZDUVWZRZHM  JU     FP  Z\NRĔF]RQH REXVWURQQLH W\QNLHP JLSVRZ\P ± PDV]\QRZ\P 

     'DFK

: F]ĊĞFL 6DOL JLPQDVW\F]QHM GDFK GZXVSDGRZ\  R NąFLH QDFK\OHQLD   �  SRNU\W\ Sá\Wą ZDUVWZRZą GDFKRZD  UG]HĔ ± ZHáQD

PLQHUDOQD  JUXERĞFL   FP    FP ] WUDSH]HP  ± RNáDG]LQ\ Sá\W ZDUVWZRZ\FK JUXERĞFL    PP  3á\W\ ZDUVWZRZH RSDUWH QD

NRQVWUXNFML GUHZQLDQHM  SáDWZLH L GĨZLJDU\ ] GUHZQD NOHMRQHJR  

: F]ĊĞFL áąF]QLND GDFK MHGQRVSDGRZ\  R NąFLH QDFK\OHQLD  �  SRNU\W\ SDSą WHUPR]JU]HZDOQą ZLHU]FKQLHJR NU\FLD JUXERĞFL
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   FP  'RFLHSOHQLH VWDQRZL ZDUVWZD JUXERĞFL   FP ] ZHáQ\ PLQHUDOQHM  D ZDUVWZD VSDGNRZD ] NHUDP]\WX 

2EUyENL EODFKDUVNLH ± ] EODFK\ SRZOHNDQHM  U\QQ\ L UXU\ VSXVWRZH ± 39& OXE VWDORZH SRZOHNDQH 

1DOHĪ\ VWRVRZDü UR]ZLą]DQLD V\VWHPRZH GHG\NRZDQH SU]H] Z\EUDQHJR GRVWDZFĊ Sá\W ZDUVWZRZ\FK 

     3RGâRJL L SRVDG]NL

5RG]DMH ZDUVWZ L Z\NRĔF]HQLD ZHGáXJ ]HVWDZLHQLD SRPLHV]F]HĔ  U\V  $     L SU]HNURMyZ  U\V  $     

6DOD JLPQDVW\F]QD 

:\VRNRĞü NRQVWUXNFML SRGáRJL VSRUWRZHM Z\QRVL RNRáR     PP  3RGáRJD Z\NRQDQD EĊG]LH MDNR UR]ZLą]DQLH

SRZLHU]FKQLRZR HODVW\F]QH QD UXV]FLH GUHZQLDQ\P SRGZyMQLH OHJDURZDQ\P   V\VWHPRZ\PL Z\NRĔF]RQD SDQHORZą

VSRUWRZą GHVNą SRGáRJRZą Z\NRQDQą ] OLWHJR GUHZQD EXNRZHJR R JUXERĞFL      PP  ']LĊNL WHPX SRGáRJD EĊG]LH

RSW\PDOQLH áąF]\ü ZáDĞFLZRĞFL VSRUWRZH L WHFKQLF]QH V\VWHPX SRZLHU]FKQLRZR HODVW\F]QHJR 

: SU]\SDGNX RUJDQL]RZDQLD LQQ\FK LPSUH] PDVRZ\FK WDNLFK MDN QS   DNDGHPLH V]NROQH  HJ]DPLQ\  Z\VWDZ\  NRQFHUW\ 

VSRWNDQLD QRZRURF]QH  SU]HZLGXMH VLĊ ]DEH]SLHF]DQLH SRVDG]NL VSRUWRZHM GZXVWURQQą Z\NáDG]LQą ]DEH]SLHF]DMąFą R

JUXERĞFL PLQLPXP     PP  :\NáDG]LQ\ WHJR W\SX SR]D IXQNFMą ]DEH]SLHF]DMąFą GRGDWNRZR QDGDMą VLĊ GR WDĔFD  Z\VWĊSyZ 

SU]HGVWDZLHĔ L SRND]yZ WHDWUDOQ\FK 

2SLV SDQHOL SRGáRJRZ\FK 

3DQHOH Z\WZDU]DQH Vą ] GZyFK SDVyZ EXNRZ\FK OLVWHZ R JUXERĞFL    PP áąF]RQ\FK Z VDPRQRĞQH GHVNL SRGáRJRZH ]D

SRPRFą VWDUDQQLH Z\IUH]RZDQ\FK ZF]HSyZ SáHWZLDVW\FK 

']LĊNL WHPX  ĪH GR SURGXNFML XĪ\ZDQH MHVW OLWH GUHZQR GHVNL WH QLH XOHJDMą UR]ZDUVWZLHQLX  %XGRZD SDQHOD SR]ZDOD Z

WUDNFLH HNVSORDWDFML QD FR QDMPQLHM    NURWQą UHQRZDFMĊ SRSU]H] ]HV]OLIRZDQLH ]XĪ\WHM OXE XV]NRG]RQHM ZDUVWZ\ 

6WDELOQRĞü Z\PLDUyZ  Z\VRND WZDUGRĞü L Z\WU]\PDáRĞü ]DSHZQLRQD MHVW G]LĊNL XQLNDOQHM WHFKQRORJLL FLĞQLHQLRZHJR

VXV]HQLD GUHZQD SRG SUDVą RUD] VSHFMDOQHM ZDUVWZLH VWDELOL]XMąFHM SR]LRP ZLOJRFL QD GROQHM SRZLHU]FKQL GHVNL 

3DQHOH PDMą GáXJRĞü PLQ      PP  V]HURNRĞü     PP L áąF]\ VLĊ MH ]D SRPRFą V\VWHPX QD SLyUR L ZSXVW XPLHV]F]RQ\FK

GOD Z]PRFQLHQLD Z\WU]\PDáRĞFL L XáDWZLHQLD PRQWDĪX QD ZV]\VWNLFK NUDZĊG]LDFK GHVNL  .DĪGD GHVND SRNU\ZD RN      P 

SRZLHU]FKQL 

3RGáRJL IDEU\F]QLH SRNU\WH Vą ODNLHUHP SROLXUHWDQRZ\P R GXĪHM Z\WU]\PDáRĞFL  QLH ]DZLHUDMąF\P IRUPDOGHK\GX  ']LĊNL

WHPX SRGáRJD QDGDMH VLĊ GR XĪ\WNX QDW\FKPLDVW SR XáRĪHQLX  'R PDORZDQLD OLQLL VWRVXMH VLĊ RU\JLQDOQH IDUE\  G]LĊNL NWyU\P

OLQLH ERLVN QLH RGSU\VNXMą L QLH áXV]F]ą VLĊ 

:áDĞFLZRĞFL WHFKQLF]QH ODNLHURZDQ\FK SDQHOL EXNRZ\FK 

� 2GSRUQRĞü QD RGNV]WDáFHQLD ± WZDUGRĞü     ZJ VNDOL %ULQHOO¶D

� 2GSRUQRĞü QD ĞFLHUDQLH ODNLHUX ± ZW         PP

� :VSyáF]\QQLN WDUFLD ±    

� :VSyáF]\QQLN SU]HZRG]HQLD FLHSOQHJR ± RN       : P.

� 2SyU FLHSOQ\ ± RN       P  . :

� àDGXQHN HOHNWURVWDW\F]Q\ 

    N9 SU]\     Z]JOĊGQHM ZLOJRWQRĞFL SRZLHWU]D

    N9 SU]\     Z]JOĊGQHM ZLOJRWQRĞFL SRZLHWU]D

    N9 SU]\     Z]JOĊGQHM ZLOJRWQRĞFL SRZLHWU]D

� :VSyáF]\QQLN RGELFLD ĞZLDWáD ±    
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� 2EFLąĪHQLH UXFKRPH ± !     1

2SLV Z\NáDG]LQ\ ]DEH]SLHF]DMąFHM

:\NáDG]LQD MHVW RGSRUQą QD REFLąĪHQLD PHFKDQLF]QH GZXVWURQQą Z\NáDG]LQą ]DEH]SLHF]DMąFą R JUXERĞFL     PP 

:\NRQDQD MHVW ] SROLFKORUNX ZLQ\OX  2ELH VWURQ\ Z\NáDG]LQ\ PRJą E\ü XĪ\WNRZDQH RUD] Vą SU]\VWRVRZDQH GRGDWNRZR GR

WDĔFD  EDOHWX  Z\VWĊSyZ  SU]HGVWDZLHĔ L SRND]yZ VFHQLF]Q\FK  'RVWDUF]DQD MHVW Z SRVWDFL UROHN GR VDPRG]LHOQHJR

 UR]ZLMDQLD L ]ZLMDQLD  ]DEH]SLHF]DQLD SRVDG]NL VSRUWRZHM SRGF]DV LPSUH] LQQHJR FKDUDNWHUX QLĪ VSRUWRZ\ 

'DQH WHFKQLF]QH 

  V]HURNRĞü     P

  JUXERĞü       PP

  ZDJD       NJ P 

7HFKQRORJLD Z\NRQDQLD SRGáRJL VSRUWRZHM

5XV]W GUHZQLDQ\ ]EXGRZDQ\ MHVW ] NU]\ĪXMąF\FK VLĊ ]H VREą OHJDUyZ LPSUHJQRZDQ\FK  JyUQH R Z\PLDUDFK      [    PP 

XáRĪRQH Z UR]VWDZLH RVLRZ\P FR RN      PP  GROQH R Z\PLDUDFK    [    PP XáRĪRQH Z UR]VWDZLH RVLRZ\P FR RN     

PP 

: FHOX SRGQLHVLHQLD SRGáRJL QD Z\PDJDQą Z\VRNRĞü SRG OHJDUDPL GROQ\PL ]QDMGXMą VLĊ HOHPHQW\ G\VWDQVRZH Z\NRQDQH ]

ZDUVWZRZR XáRĪRQ\FK NORFNyZ R áąF]QHM JUXERĞFL RN     PP L NOLQyZ R UHJXORZDQHM Z\VRNRĞFL RG    GR    PP  3XQNW\

SRGSDUFLD Vą UR]PLHV]F]RQH FR RN      PP  &DáRĞü RGL]RORZDQD MHVW RG SRGáRĪD IROLą SROLHW\OHQRZą R JUXERĞFL PLQ     

PP XNáDGDQą QD ]DNáDGNĊ    FP  1D WDN ]EXGRZDQ\ UXV]W XNáDGDQH Vą SDQHOH EXNRZH R JUXERĞFL   PP 

3RGáRJD RGVXQLĊWD MHVW RG ĞFLDQ\ R RN    FP L Z\NRĔF]RQD Z F]ĊĞFL SU]\ĞFLHQQHM ODNLHURZDQą V\VWHPRZą OLVWZą ] GUHZQD

EXNRZHJR PRQWRZDQą GR SRGáRJL JZRĨG]LDPL ÄEH]áHENRZ\PL´  /LVWZD PD VSHFMDOQH Z\ĪáRELHQLD XPRĪOLZLDMąFH

JUDZLWDF\MQą F\UNXODFMĊ SRZLHWU]D SRG NRQVWUXNFMą SRGáRJL  : PLHMVFDFK XV\WXRZDQLD GU]ZL QD VW\NX SRGáRJL VSRUWRZHM ]

LQQą SáDV]F]\]Qą SR]LRPą SRVDG]ND Z\NDĔF]DQD MHVW NąWRZą OLVWZą DOXPLQLRZą 

: SU]HVWU]HQL UXV]WX GUHZQLDQHJR XPLHV]F]RQH Vą FLąJL ZHQW\ODFML PHFKDQLF]QHM   ZHGáXJ RSUDFRZDQLD EUDQĪRZHJR 

8:$*$

&DáD SRGáRJD RGVXQLĊWD MHVW RG ĞFLDQ\ R RNRáR   FP  FR GDMH PRĪOLZRĞü F\UNXODFML SRZLHWU]D SRG NRQVWUXNFMą SRGáRJL

 ZHQW\ODFMD JUDZLWDF\MQD 

àąF]QD Z\VRNRĞü SRGáRJL Z\QRVL RN      P

    ,]RODFMH

3U]HFLZZLOJRFLRZH L SU]HFLZZRGQH 

  L]RODFMD SU]HFLZZLOJRFLRZD SR]LRPD SRG ĞFLDQ\ IXQGDPHQWRZH ± QD áDZDFK IXQGDPHQWRZ\FK ± SDV SDS\ DVIDOWRZHM

XNáDGDQ\ QD ]DNáDG RNRáR   FP QD FDáą V]HURNRĞü IXQGDPHQWX  QD VWRSDFK PDORZDQLH GZXNURWQLH '\VSHUELWHP 

  L]RODFMD SU]HFLZZLOJRFLRZD SLRQRZD ĞFLDQ IXQGDPHQWRZ\FK ± Z\VWĊSXMH SR ]HZQĊWU]QHM VWURQLH ĞFLDQ\ IXQGDPHQWRZHM SR

REU\VLH FDáHJR EXG\QNX ± PDORZDQLH GZXNURWQLH '\VSHUELWHP RG SR]LRPX IXQGDPHQWX GR SR]LRPX PLQ   FP QDG

WHUHQHP 

  L]RODFMD SRGáRJL SDUWHUX ±  [ IROLD 3(

7HUPLF]QH L DNXVW\F]QH 

  L]RODFMD SRGáRJL SDUWHUX ± VDOD JLPQDVW\F]QD ± VW\URSLDQ JU    FP  ZVS  SU]HZRGQRĞFL FLHSOQHM Ǌ�     : P.   áąF]QLN ±
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VW\URSLDQ JU    FP  ZVS  SU]HZRGQRĞFL FLHSOQHM Ǌ�     : P. 

  L]RODFMD GDFKX ± áąF]QLN   ZHáQD PLQHUDOQD WZDUGD JU    FP  ZVS  SU]HZRGQRĞFL FLHSOQHM Ǌ�     : P. 

  L]RODFMD ĞFLDQ IXQGDPHQWRZ\FK ± VW\URSLDQ IXQGDPHQWRZ\ JU   FP  ZVS  SU]HZRGQRĞFL FLHSOQHM Ǌ�     : P. 

  L]RODFMD ĞFLDQ SU]\]LHPLD ± VW\URSLDQ JU   FP  ZVS  SU]HZRGQRĞFL FLHSOQHM Ǌ�     : P.   ZHáQD PLQHUDOQD WZDUGD JU 

  FP  ZVS  SU]HZRGQRĞFL FLHSOQHM Ǌ�     : P. 

    6WRODUND RNLHQQD L GU]ZLRZD

2NQD ± SU]\MĊW\ ĞUHGQL ZVSyáF]\QQLN 8�   :  P .  ± GOD FDáHJR RNQD 

'U]ZL ]HZQĊWU]QH ZHMĞFLRZH RFLHSORQH R ZVSyáF]\QQLNX 8�   :  P . 

3U]HG ]áRĪHQLHP ]DPyZLHQLD QD VWRODUNĊ RNLHQQą L GU]ZLRZą QDOHĪ\ VSUDZG]Lü QD PLHMVF\ Z\PLDU\ ZEXGRZDQLD VWRODUNL

SU]HV]NOHĔ  2VDG]HQLH RNLHQ L GU]ZL ZJ LQVWUXNFML SURGXFHQWD 

: FHOX ]PLQLPDOL]RZDQLD PRVWNyZ WHUPLF]Q\FK ]DOHFD VLĊ Z\NRQDQLH FLHSáHJR PRQWDĪX 

3RPLĊG]\ SRPLHV]F]HQLHP     D     GU]ZL R L]RODF\MQRĞFL L V]F]HOQRĞFL RJQLRZHM   (,    

: ĞFLDQLH ]HZQĊWU]QHM  Z RVL  E  RNQD VWDáH R L]RODF\MQRĞFL L V]F]HOQRĞFL RJQLRZHM   (,    

    3DUDSHW\ ]HZQċWU]QH

3DUDSHW\ DOXPLQLRZH  VWDORZH PDORZDQH SURV]NRZR Z NRORU]H SURILOX RNLHQQHJR 

:\VWĊS SU]HG OLFR PXUX PLQ   FP 

     :\NRĕF]HQLH ZHZQċWU]QH

ĝFLDQ\ L VXILW\  GOD VWURSX ĪHOEHWRZHJR 

'OD ĞFLDQ PXURZDQ\FK RUD] VWURSX QDG SDUWHUHP ± ]DSURMHNWRZDQR W\QNL JLSVRZH 

$OWHUQDW\Zą PRJą E\ü W\QNL FHPHQWRZR ZDSLHQQH NDW  ,,,

:\NRĔF]HQLD ĞFLDQ áD]LHQHN L NXFKQL ± Sá\WNL ĞFLHQQH GR Z\VRNRĞFL PLQ    P Z áD]LHQNDFK 

'U]ZL ZHZQĊWU]QH

3HáQH OXE F]ĊĞFLRZR SU]HV]NORQH  GU]ZL GR ZF  áD]LHQHN ± ] NUDWNą ZHQW\ODF\MQą R SRZ       P  

3DUDSHW\ ZHZQĊWU]QH   NRQJORPHUDW 

   &KDUDNWHU\VW\ND HNRORJLF]QD RELHNWX 

%XG\QHN EĊG]LH ]DRSDWU\ZDQ\ Z ZRGĊ ] VLHFL ZRGRFLąJRZHM L HQHUJLĊ HOHNWU\F]Qą ] VLHFL HOHNWURHQHUJHW\F]QHM  :RGD

RSDGRZD UR]SURZDG]DQD EĊG]LH SRZLHU]FKQLRZR QD WHUHQ G]LDáNL ,QZHVWRUD 

:HQW\ODFMD  PHFKDQLF]QD 

ĝFLHNL E\WRZH RGSURZDG]DQH EĊGą GR EH]RGSá\ZRZHJR V]F]HOQHJR ]ELRUQLND ĞFLHNyZ 

(OHPHQW\ NRQVWUXNF\MQH EXG\QNX 

  )XQGDPHQW\

%XG\QHN SRVDGRZLRQ\ EH]SRĞUHGQLR QD áDZDFK L VWRSDFK IXQGDPHQWRZ\FK Z\OHZDQ\FK ] EHWRQX &       %    

3RG áDZDPL L VWRSDPL QDOHĪ\ Z\NRQDü EHWRQ SRGNáDGRZ\ &       %     JUXERĞFL    FP 

: WUDNFLH Z\NRQ\ZDQLD IXQGDPHQWyZ QLH PRĪQD GRSXĞFLü GR ]DZLOJRFHQLD Z\NRSyZ L SRGáRĪD JUXQWRZHJR  : SU]\SDGNX

]DMĞFLD WDNLHM V\WXDFML QDOHĪ\ ZDUVWZĊ UR]PRF]RQHJR JUXQWX Z\EUDü L ]DVWąSLü EHWRQHP %    : PLHMVFDFK SU]HFLĊü 

]DáDPDĔ  QDURĪ\ áDZ QDOHĪ\ ]DVWRVRZDü GRGDWNRZH SUĊW\ ZSXV]F]RQH L ]DNRWZLRQH Z VąVLHGQLH HOHPHQW\  : SU]\SDGNX
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Z\VWĊSRZDQLD JUXQWyZ QLHVSRLVW\FK GR ]DV\SDQLD Z\NRSyZ ZRNyá ĞFLDQ IXQGDPHQWRZ\FK PRĪQD Z\NRU]\VWDü JUXQW

URG]LP\ Z\GRE\W\ SRGF]DV UREyW ]LHPQ\FK L IXQGDPHQWRZ\FK ]DJĊV]F]DMąF JR ZDUVWZDPL JU    FP GR X]\VNDQLD

ZVNDĨQLND ]DJĊV]F]HQLD PLQ  ,V      

=EURMHQLH VWyS L áDZ IXQGDPHQWRZ\FK ZHGáXJ U\VXQNyZ NRQVWUXNF\MQ\FK  .    L .    

=EURMHQLH SRGáXĪQH áDZ SU]HFKRG]L SU]H] VWRS\ IXQGDPHQWRZH 

'RSXV]F]D VLĊ VFKRGNRZDQLH áDZ IXQGDPHQWRZ\FK Z F]ĊĞFL áąF]QLND 

  ĝFLDQ\ IXQGDPHQWRZH

ĝFLDQ\ IXQGDPHQWRZH Z\NRQDQH EĊGą ] EORF]NyZ EHWRQRZ\FK &       %     PXURZDQH QD ]DSUDZLH FHPHQWRZHM PDUNL

0      03D   L]RORZDQH SU]HFLZZLOJRFLRZR SRGZyMQą ZDUVWZą '\VSHUELWX  L]RORZDQH WHUPLF]QLH VW\URSLDQHP
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